3.3 Steady-State Probabilities for Markov Chain

Wednesday, January 02, 2013 10:32 AM

Ano‘.l72|‘f\g c simf\c Meay how chain

Cons;a’e, o 575'\1.»« tjovc/ﬂca Assuw\e thet ot 'Hme. t:O)
L)/ +he Markoe chaia belows the s)/s“-em is A state B.

Le,-} Yhe S/S'I'e-n e.vo]\ﬁ-e,s acoové(r\s

3/5
2] 5 1, to +he trassition probabilities
n e Mahos chaia.
1/2

Exp. 5 > time [3]

B N VN NN W N |
—t—tt

¢7 N\
01 2 345 -k

\
1 BAADRBBABA -

2 BAAABRAREBR' -
{
b !
) N ) ’
I X (|
o )
| ,'
100,000 B /
/) \/

A

Look ot +ime t far OOy 'P/um t=o0.
Am0n3 the 100,000 e,x,oev;mcr\'\'-,J how ran ot them
ore 1A s‘}c‘,‘\'c A()
hen masy ace in state &)

Pro)oa\o'-\'-sf;cc‘“ , we tak oboot

fA - )QAS LLN f‘A (1.“‘ cof\vg/jef\ce
relative ‘Ffefs./\ 10 ":rum vela b we
LLN
A 1 Sy Freg. ro
105 & ploLoL’.\ﬂy value)
comes From LLN)
A 8
t=o0 o 100,000
/lu.
2
t=9 50,000 §0,000

2 N

Lecture Part 1 Page 1



50, 00D
XE ’/1
5
t =25 26000 425000
= 45,000
t =-,SS -.,c,-/goo
= 4% %5450
£ =59 “5 455
4T 4 54 ©
|
|
t-= tlwﬁc n '5/5
(so»«f- ‘“\ovbc—' VG‘\UC-)
t = t\fujc + v h/-\- '/7_

1§ the Sys tem

3 1 A
=n, = 1 = =
5 A T 3% 2 M TrA
N n = 7
A-* a = 10
— =10
nat —hg 1
S
N, =10 x =
A 11
S.5 _ 0x b
n = 10 =10 w2 = x =
o 1N 11
Note: The wvalues of A ond ~a
Owe ac'l-ua“/ VC‘I\AO"".
The valws we fouvnd cbove
Give

sim,o\/ Fheir c-f{uox?ma'\'Iof\

As we inecvecne the &expu'nma.n‘\'s'

r I - \

Lecture Part 1 Page 2

Vs

v
§0 000

4
/7

25,000 + 33,060
= 55,000

54500

591‘55‘0

THSH G

so~\e\no\~ veaches u‘sul\'.\n.'ufv\l then we must L\owq_

Ar\o'\'hc/

View;

Loo\t A;n.c“) at tre rvo\w‘lvi\y,

._3_ :_’ =—c%
P+£( = 1
e =1
g A .
=32 2
fa 14 fa 11



-

AS we i1ncvecye the &C&pc/.lmd.r\'\'s"
Then Fp = DA ond Ay

—

S experiment s

will cohveh‘:)e o Pa ond o vesrcd’;«ely
b/ +b\¢. \aw O‘F lCA/DQ_ nUMLeIS.

Lecture Part 1 Page 3



